INSTRUC FF	P.U. C. Fe LONG ANTHY which udes	fagne <i>rumber and de</i> teorne e	ll <i>orphoduction</i> s in	volves multiple re	HMMARY OF I	YTPREMOTINE (Ж МұҢҚ МҰСОІ		омв noPage 1 of 5			
	uirements. The totals of the state of the st			em 13 of OMB-83 ols. H & K = 13c.) - 1;	Micro-Grai	P) (NEW)	0581-NEW				
		(F)Total/(D)Total =	E)Average (H)Total/(F)Total	= (G)Average							
(K)Total/(I)Total	= (J)Average mns will calculate automa	rically If Col. E's rospo	nco ic comothing	other than annual	lly io 1/6						DATE PREPA	RED
	& decimal will display.	icany. II Coi. Es respo	nise is sometimg	, outer than annual	ny, i.e., 1/6						April	l 24, 2020
IDENTIFIC	CATION OF REPORTING OR F	RECORDKEEPING REQUIR	EMENT					AN	INUAL BURDEN			
							REPORTS				RECORDS	
				FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL
SECTION OF		DESCRIPTION		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	RECORD- KEEPING HOURS
REGS.				so state)	THE OTHER PROPERTY.	PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
						RESPONDENT					KEEPER	
(A)		(B)		(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
7 USC 1621 & 2 CFR	STANDARDIZE GRANT PROGR represents totals	D FORMS FOR AMS (Line entr	y				0.00		0.00	·	•	0.00
	Request for Applic	cations (RFA) (Re	eading)	None	10	1.0000	10.00	4.0000	40.00			0.00
	Application for Fe under OMB No. 4		(approved	SF 424	10	1.0000	10.00	1.0000	10.00			0.00
	Notice of Award a (approved under C	nd Grant Agreem MB No. 0581-02	nent 240)	AMS 33	10	1.0000	10.00	0.5833	5.83			
	AMS General Terr (approved under C			None	10	1.0000	10.00	2.0000	20.00			0.00
	Amendment Requ No. 0581-0240)	est (approved und	der OMB	None	10	2.0000	20.00	1.0000	20.00			0.00
	Interim Performan (approved under C			None	10	2.0000	20.00	4.0000	80.00			0.00
			SUBTOTAL			7	70.00	12	165.83	0.00		0.00
		TOTAL OF A	ALL PAGES			11	110.00	26	308.33	10.00		10.00

REPRODUCE LOCALLY. Include form number and date on all reproductions.	SUMMARY OF I	NFORMATION COLLECTION		Page 2 of 5	
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c		120.00	318.33		

SUMMARY OF INFORMATION COLLECTION USDA-AMS

REPRO	DDUCE LOC	ALLY. Include f	form number an	nd date on all re	productions.		UMMARY OF I	NFORMATION C	OLLECTION				Pag	je 3 of 5
INSTRUCTION								TITLE OF INFO	DRMATION COL	LECTION DO	CUMENT		OMB NO.	
recordkeeping requirements. The totals of the figures in cols. should be entered in item 1 cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H								Micro-Grai	nts for Food	P) (NEW)	0581-NEW			
			(F)Total/((D)Total = (E)Average (H)Total/(F)Total :				J	0 (, ,		
(K)Total/(I)Total NOTE: The colu	l = (J)Avera	ge lculate automat	ically If Col	l F's response	is something	other than annual	llvie 1/6						DATE PREPA	RED
years, list as "1/6"	" & decimal	will display.	icany. If Col	i. L s response	: 13 30IIIEIIIIIg	, ouier ulair allitua	iry, 1.e., 1/0						April	1 24, 2020
IDENTIF	ICATION OF F	REPORTING OR R	RECORDKEEPIN	NG REQUIREMI	ENT					AN	NUAL BURDEN		Г	,
									REPORTS				RECORDS	
														TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF			DESCRIPTION	N	T	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
								RESPONDENT					KEEPER	
(A)	(B)					(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	0012) Federal Financial Report (approved under OMB No. 4040-0014) Tangible Personal Property Report Disposition					SF 270	10	10.0000	100.00	1.0000	100.00			0.00
						SF 425	10	3.0000	30.00	1.0000	30.00			0.00
						SF 428 C	10	1.0000	10.00	2.7500	27.50			0.00
	Tangible Personal Property Final Penert				None	10	1.0000	10.00	4.0000	40.00			0.00	
					SF 428 B	10	1.0000	10.00	1.0000	10.00			0.00	
					None						10	1.000	10.00	
				SU	BTOTAL			1	10.00	4	40.00	10		10.00

SUMMARY OF INFORMATION COLLECTION USDA-AMS

REPRO	DUCE LOCA	LY. Include	form number and	d date on all re	productions.	:	SUMMARY OF I	NFORMATION C	OLLECTION				Pag	je 4 of 5	
INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:								TITLE OF INFO	DRMATION COL	LECTION DO	CUMENT		OMB NO.		
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.								Micro-Gra	nts for Food	Security P	rogram (MGFS	P) (NEW)	0581-NEW		
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1.													DATE PREPARED		
years, list as "1/6"	' & decimal w	rill display.	ucany. II Coi.	. E s response	ris someunng	g ouier man annua	ny, i.e., 1/6						April	24, 2020	
IDENTIFI	ICATION OF RE	PORTING OR F	RECORDKEEPIN	IG REQUIREME	ENT					AN	INUAL BURDEN				
							-		REPORTS				RECORDS		
														TOTAL	
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF			DESCRIPTION	1		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
<u> </u>								RESPONDENT					KEEPER		
(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	
7 USC 1621 & 2 CFR 200			TIVE AM GFSP ONI												
	Grant Administration Narrative Negotiated Indirect Cost Rate Agreement (NICRA) (approved under OMB No. 0581- 0240)				None	10	1.0000	10.00	2.0000	20.00			0.00		
					None	10	1.0000	10.00	0.2500	2.50			0.00		
	Project N	Varrative l	Form (serie	es of)		None	10	1.0000	10.00	8.0000	80.00			0.00	
1															

REPROI	DUCE LOCA	LY. Include	førm number and	d date on all re	productions.	:	UMMARY OF I	NFORMATION C	OLLECTION				Pac	e 5 of 5	
														, - 	
INSTRUCTIONS recordkeeping required cols. (D) &/or (I) =	uirements. T	he totals of t	he figures in co	ols. should be	entered in it			TITLE OF INFO	DRMATION COL	LECTION DO	CUMENT		OMB NO.		
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (K)Total/(I)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annual													DATE PREPA	RED	
years, list as "1/6"	mns will calc & decimal w	ulate automa rill display.	itically. If Col.	. E's response	is something	other than annua	lly, i.e., 1/6								
IDENTIFIC	IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT									AN	INUAL BURDEN				
									REPORTS				RECORDS		
														TOTAL	
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF			DESCRIPTION	1		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
								RESPONDENT					KEEPER		
(A)	(B) (C)						(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
				SII	BTOTAL		0	0	0.00	0	0.00	Err:522		Err:522	
				30	DIUIAL		U	<u> </u>	0.00	0	0.00	EII.522		£11:52	

SUMMARY OF INFORMATION COLLECTION USDA-AMS